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QUESTION 1

By which gland in the body is produced follicle-stimulating hormone (FSH), which is responsible for maturation of
follicles in the ovary?

A. corpus luteum

B. ovary

C. anterior lobe of pituitary gland
D. posterior lobe of pituitary gland

Correct Answer: C

QUESTION 2

Which of the following is exchanged between two or more atoms that undergo ionic bonding?
A. electrical charges

B. valence electrons

C. transitory electrons

D. neutrons

Correct Answer: B

An ionic bond forms when one atom donates an electron from its outer shell, called a valence electron, to another atom
to form two oppositely charged atoms.

QUESTION 3
The law of conservation of mass states that

A. The total mass of all products of a chemical reaction is independent of the total mass of all the reactants. They are
not related.

B. The total mass of all products of a chemical reaction is equal to the total mass of all the reactants.
C. The total mass of all products of a chemical reaction is more than the total mass of all the reactants.

D. The total mass of all products of a chemical reaction is less than the total mass of all the reactants, because some
mass coverts to energy during reaction.

Correct Answer: B

QUESTION 4
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Which of these statements regarding the gastrointestinal tract is false?
A. Villi present in the large intestine absorb water and mineral salts.

B. The ileum absorbs B12 and bile salts.

C. The large intestine secretes no enzymes.

D. Villi contain lacteals for the absorption of fats.

Correct Answer: A

QUESTION 5

Which group of major parts and organs make up the immune system?
A. nose, trachea, bronchial tubes, lungs, alveolus, and diaphragm

B. heart, veins, arteries, and capillaries

C. brain, spinal cord, and nerve cells

D. lymphatic system, spleen, tonsils, thymus, and bone marrow
Correct Answer: D

The immune system consists of the lymphatic system, spleen, tonsils, thymus and bone marrow.
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